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Vypočítej:

23            19                 25                68                 51                 42
42            57                 14             -  28              - 42              -    3

Vyřeš slovní úlohu:

Petr sesbíral 280 jablk. 100jablek dal babičce. Kolik jablek zůstalo Petrovi?

Zápis:

Výpočet:

Odpověď:

Vypočítej:( 2x8)+4=                        ( 3x2 )+9=                    (5x2)+8=
                 22-(2x6)=                        31-(7x2)=                     28+(2x9)=

2x3=           3x2=              5x2=               2x5=                 2x4=            4x2=
2x2=           2x6=              6x2=               2x8=                 2x9=            9x2=
8x2=           10x2=            2x10=             3x3=                 2x0=            0x2=
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